Unit 2: On the move - Multiple Choice Questions (Part 1 of 4)
Jordan High Note - Grade 12 - Semester 1

1.

Many people choose to abroad for work

experience. a) emigrate b) immigrate c) migrate d) travel
Correct Answer: a) emigrate

CAf known about the traffic, | would have left

earlier. a) had b) have c) would have d) did Correct
Answer: a) had

. Which of the following is an example of an involuntary

migration? a) Moving for a new job. b) Studying abroad
for a year. c) Fleeing a war zone. d) Going on a long
holiday. Correct Answer: c) Fleeing a war zone.

. The company is looking for employees with excellent

skills, especially in foreign languages. a)

stationary b) communicative c) movement d) settled
Correct Answer: b) communicative

. The train by the time we arrived at the

station. a) left b) had left c) was leaving d) leaves Correct
Answer: b) had left

. A podcast discusses the impact of tourism on local

communities. What is a likely positive impact
mentioned? a) Increased pollution. b) Loss of traditional
culture. c) Economic growth and job creation. d)



10.

Overcrowding in tourist areas. Correct Answer: c)
Economic growth and job creation.

. Many birds south for the winter. a)

immigrate b) emigrate c) migrate d) commute Correct
Answer: c) migrate

. They in this city for ten years before they

decided to move. a) live b) are living c) have lived d) had
lived Corrects Answer: d) had lived

. Choose the sentence with the correct word order: a) She

quickly walked to the bus stop. b) She walked quickly to
the bus stop. c) Quickly she walked to the bus stop. d) To
the bus stop she walked quickly. Correct Answer: a) She
quickly walked to the bus stop. (or b) She walked quickly
to the bus stop. 'a’ is often more natural for single
adverbs of manner.)

A map showing different migration routes of animals
would most likely be used to illustrate a presentation on:
a) Urban development. b) Global warming effects. c)
Animal behaviour and ecosystems. d) Human population
growth. Correct Answer: c) Animal behaviour and
ecosystems.
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11. The word 'nomadic’ is most closely associated with:
a) Permanent settlement. b) Constant movement. c)
Building houses. d) Urban living. Correct Answer: b)
Constant movement.

12. We a great time at the festival last

night. a) had b) have c) are having d) will have Correct
Answer: a) had

13. When discussing global population movement, what
is a push factor? a) A good job opportunity in a new
country. b) Political instability in one's home country. c)
Better educational facilities abroad. d) Family
reunification policies. Correct Answer: b) Political
instability in one's home country.

14. To express a strong recommendation for a travel
destination, you might say: a) "It's okay, | guess." b) "You
should definitely go there!" c) "l wouldn't bother if | were
you." d) "It's not bad." Correct Answer: b) "You should
definitely go there!"

15. Before the age of cars, people used to

long distances on horseback. a) wander b) commute c)
traverse d) settle Correct Answer: c) traverse



16. She said that she visit her grandmother
the following weekend. a) will b) would c) is going to d)
visits Correct Answer: b) would

17. Choose the sentence that uses a semicolon correctly:
a) The journey was long; and tiring. b) The journey was
long; it was also tiring. c) The journey was long, it was
also tiring. d) The journey was long: it was also tiring.
Correct Answer: b) The journey was long; it was also
tiring.

18. A series of historical photographs showing old forms
of transport (e.g., horse-drawn carriages, early trains)
could be used in a presentation about: a) Modern urban
planning. b) The evolution of human mobility. c)
Agricultural development. d) Contemporary art. Correct
Answer: b) The evolution of human mobility.

19. Many people experience culture when
they move to a completely different country. a) shock b)
surprise c) difference d) change Correct Answer: a) shock

20. You take a valid passport when
traveling internationally. a) might b) could c) must d)
would Correct Answer: c) must
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21. What is a "push factor" in migration? a) Something
that attracts people to a new country. b) A reason that
forces people to leave their home country. c) A policy
encouraging immigration. d) The availability of good
public transport. Correct Answer: b) A reason that forces
people to leave their home country.

22. People who move from place to place, often
seasonally, without a fixed home are described as: a)
residents b) immigrants ¢) nomads d) tourists Correct
Answer: ¢) nomads

23. She abroad for her studies next year. a)
will emigrate b) is emigrating c) emigrated d) has
emigrated Correct Answer: b) is emigrating (or a) will

emigrate, depending on context, but 'is emigrating'
implies a definite plan)

24, When someone asks about your travel plans, you
might say: a) "That's none of your business." b) "I'm not
going anywhere." c) "I'm thinking of visiting Japan next
summer." d) "Why do you ask?" Correct Answer: c) "I'm
thinking of visiting Japan next summer."



25. The rapid of the city led to many people

moving to the suburbs. a) expansion b) contraction c)
slowdown d) stability Correct Answer: a) expansion

26. If only | known about the discount
earlier! a) had b) have c) would have d) did Correct
Answer: a) had

27. Choose the sentence with the correct use of commas
in a list: a) We packed clothes, food and water. b) We
packed clothes, food, and water. c) We packed, clothes,
food and water. d) We packed clothes food and water.
Correct Answer: b) We packed clothes, food, and water.

28. If you are showing a graph about global tourism
trends over the past decade, what would it most likely
indicate? a) A decrease in global travel. b) A significant
increase in international tourist arrivals. c) No change in
tourism numbers. d) A shift from leisure to business
travel. Correct Answer: b) A significant increase in
international tourist arrivals.

29. The of the old city walls prevented

invaders from entering. a) weakness b) durability c)
collapse d) beauty Correct Answer: b) durability



30. Before moving to London, he in a small

village. a) used to live b) use to live c) is used to living d)
would live Correct Answer: a) used to live
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31. A person who travels to work or school every day is
called a: a) tourist b) commuter c) migrant d) settler
Correct Answer: b) commuter

32. The sudden in demand for flights during
the holiday season caused ticket prices to soar. a) drop b)
increase c) stability d) decrease Correct Answer: b)
increase

33. By the end of this year, she to over

twenty countries. a) will travel b) will have travelled c) is
travelling d) travels Correct Answer: b) will have travelled

34. When expressing uncertainty about travel plans, you
might say: a) "I'm definitely going." b) "I'm not sure if I'll
go." c) "I must go." d) "I've already booked it." Correct
Answer: b) "I'm not sure if I'll go."

35. The movement of people from rural areas to cities is
known as: a) suburbanization b) urbanization c)



decentralization d) rural living Correct Answer: b)
urbanization

36. | had my car last week because the

engine was making a strange noise. a) fix b) fixed c) to fix
d) fixing Correct Answer: b) fixed

37. Which sentence uses parallel structure correctly? a)
He enjoys running, swimming, and to cycle. b) He enjoys
running, swimming, and cycling. c) He enjoys to run, to
swim, and cycling. d) He enjoys running, swimming, and
cycle. Correct Answer: b) He enjoys running, swimming,
and cycling.

38. A bar chart comparing the number of international
tourists arriving in different countries would best
illustrate: a) Individual travel preferences. b) Global
tourism hotspots. c) The economic impact of travel. d)
Specific travel routes. Correct Answer: b) Global tourism
hotspots.

39. The ancient Silk Road was a vital trade

connecting East and West. a) journey b) route c)
destination d) transport Correct Answer: b) route

40. They on a long journey across the

desert. a) set off b) set up c) set in d) set down Correct
Answer: a) set off



